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- Quiz II- Star. 230 (Sec. 2.4--3.6 Hogg and Tanis(8))

PART I- Circle your choice of the correct answer. You get:
i) A score of 5 points for each correct answer.
ii) Zero points for each wrong answer, no answer, or multiple answer .
iv) If you strongly feel that the answer is missing, write your finding in the space next 10 option E.
If your answer is correct, you secure a full mark of 5.
to the recorded number of decimal places.

REMARK: Some fractional answers are rounded
ver. Answer the following two questions:

A six sided die is being cast over and 0
Find the probability that more than seven trials are needed for the first 5 to appear on the die. .

A 0.5080 B 0.7049 @© 02791 sy~ Bk
e Let X be the number of trials when the third five was obtained. What is E(X%)?
’@ 414 B 452 C 342 D 402 E/

= &
B F'mdd;eexactvalw:ofl:Zk%. HINT: Manipulate 0is50 :
2 K

A 31 Bre Cc 2%+ D3+ &V

o Asume X<—>N(u=10" =4). Find X’ <9). ..
A 05455 B 0.6295 C 07875 -@o;am
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r beer into 340 c.c. bottles. The amount poured, X, is a

An automatic fill-machine is set to pou
normal random variable having a mean of 331c.c. and a variance of 25.

Answer the following questions:
e Find P(X<333).

A 00,5452 0. 6554 C 0.5242 D 0.771

Find the percentage of bottles that will overflow.

A 0.0211 B 0.0452 C 0.0542 . 0359 \VE/,/ .......

o EindP(0.1<[X-331)°<04).
D 025 B oo Renierint

@ 0.075 B 0.025 C 0.05 .
> 4

PART II: Write down the complete solution for the following questions:

1. Do the following two independent parts:
a) (10 Points) Let X have the uniform distribution: U(-2,3). Find E(\X \), the expected

value of the absolute value of X .
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2.(5+5+5 =15 Points) The life X, (in years) of a voltage regulator has the p.d.f.
2 x
3y
f(x)= -3-;,—'8’" ; x > 0. Answer the following questions:

a) Show that the probability (rounded value) that this regulator will last more than 7 years is 0.368.
P(X}?/: /” P(XZ(_;")}: /”FC?): 7— 8?6(54,) C\M

2 1 4 9‘_/ a A2 0 " p

£ % '};; et A LW Al 1)1
8¢ O(x>7) <= 0.367% a p.3¢ % :

b) If five such regulators are tested, what is the probability that exactly two of them will last at least
7 years?

. | Ao A
(oA ok ik okt F o Btscan o ) ot i W mnlon
Q ’ Y(———-)’*Q?'; (Cg.b,%%) | ot 4 .
‘3@— P’c.w/;‘;‘a,/{:: %ﬁ}; u}.w gbg/: g@ f@'% b (O.'m/ 7

i it

"





image4.jpeg
3. (5+5+5+5 =20 Points) The p.d.f. of a continuous random variable is:
T i 3 :
sl = _(1;_5) . Answer the following questions:
LD

10
a) Determine fully the function F(x), the cumulative distribution function of the above varizble
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d) Calculate the inter-quartile range, g 5 ~S’ - 0.5 7.1

EQk- ‘7’, e g{(:*;"gys kw’\//
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4.The moment generating function of a discrete random variable X, is given as: /
2t . (

M (f‘) = i ) // T

a) (5 Polnts) Find E(X).

M(k)“M /t
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b) G Points) Find P(X=6).
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